<table border="0" cellpadding="0" style="border-collapse: collapse; width: 575px">
<colgroup>
<col style="width: 537pt" width="716" />
</colgroup>
<tbody>
<tr height="17" style="height: 15pt">
<td bgcolor="#BE252D" height="17" style="height: 15pt; width: 575px; color: black; font-size: 10.0pt; font-
weight: 400; font-style: normal; text-decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: middle; white-space: nowrap;
border: medium none; padding-left: 1px; padding-right: 1px; padding-top: 1px">
<font color="#FFFFFF" size="2">De wijkkerkenraad van Radewijk
bestaat uit onderstaande leden:</font></td>

<tr>
</tbody>
</table>
<table border="0" cellpadding="0" style="border-collapse: collapse; width: 575px" width="608">
<colgroup>

<col style="width: 72pt" width="96" />
<col style="width: 11pt" width="15" />
<col style="width: 135pt" width="180" />
<col style="width: 20pt" width="26" />
<col style="width: 72pt" width="96" />
<col style="width: 11pt" width="15" />
<col style="width: 135pt" width="180" />
</colgroup>
<tbody>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; width: 100pXx; color: black; font-size: 10.0pt; font-weight: 400; font-style:
normal; text-decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none;
padding-left: 1px; padding-right: 1px; padding-top: 1px" width="96">
<font color="#BE252D" size="2">Predikant</font></td>
<td style="width: 7px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none;
font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right:
1px; padding-top: 1px" width="15">
<font color="#BE252D" size="2">:</font></td>
<td style="width: 175px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration:
none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px;
padding-right: 1px; padding-top: 1px" width="180">
Naam</td>
<td style="width: 11px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none;
font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right:
1px; padding-top: 1px" width="26">
&nbsp;</td>
<td style="width: 100px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration:
none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px;
padding-right: 1px; padding-top: 1px" width="96">
<font color="#BE252D" size="2">Praeses</font></td>
<td style="width: 7px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none;
font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right:
1px; padding-top: 1px" width="15">
<font color="#BE252D" size="2">:</font></td>
<td style="width: 175px; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration:
none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px;
padding-right: 1px; padding-top: 1px" width="180">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
Adres</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">



&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
Postcode / Woonplaats</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
Telefoon</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
</td>



<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
E-mail</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr height="17" style="height: 12.75pt">
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">



&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr>
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font color="#BE252D" size="2">Scriba</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
<font color="#BE252D" size="2">:</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:100px">
<font color="#BE252D" size="2">Ouderling</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
<font color="#BE252D" size="2">:</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr>
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1pXx;
padding-top: 1px; width:175px">
&nbsp;</td>
</tr>
<tr>
<td height="17" style="height: 12.75pt; color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-
decoration: none; font-family: Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left:
1px; padding-right: 1px; padding-top: 1px; width:100px">
<font size="2">&nbsp;</font></td>



<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:7px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:175px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:11px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
Arial, sans-serif; text-align: general; vertical-align: bottom; white-space: nowrap; border: medium none; padding-left: 1px; padding-right: 1px;
padding-top: 1px; width:100px">
&nbsp;</td>
<td style="color: black; font-size: 10.0pt; font-weight: 400; font-style: normal; text-decoration: none; font-family:
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